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Note : Attempt any two questions from section A, four from 
section B and two from section C. 

SECTION - A 

1. What is meant by non - sampling errors ? What 20 

are their sources ? How are these errors different 

from sampling errors ? 

2. (a) What is meant by frequency distribution ? 

(b) Form a frequency distribution with class 

intervals from the following data. 	10+10 

Monthly salaries of 20 employees. 

130, 62, 145, 118, 125, 76, 151, 142, 110, 98 

95, 116, 100, 103, 71, 85, 80, 122, 132, 95 
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3. 	(a) Briefly explain various measures of control 
tendency. 	 10+5+5  

(b) Given the following table find out mean and 
median. 

Class Intervals Frequency 
262.5 - 286.5 1 
286.5 - 310.5 14 
310.5 -334.5 16 
334.5 - 358.5 28 
358.5 - 382.5 26 
382.5 - 406.5 15 

4. 	What is a random variable ? Differentiate between 
discrete and continuous random variable. Outline 
the important properties of binomial distribution. 

4+6+10 
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SECTION - B 

5. Let us consider the following data on the 12 

distribution of households based on number of 

rooms occupied. 

Rooms Occupied Percent 

One Room 47.8 

Two Rooms 28.2 

Three Rooms  12.0 

Four Rooms 6.0 

Five or More Rooms 5.9 

Others 0.1 

Total 100.0 

Represent the data by a suitable diagram. 

6. (a) What is inter - quartile range ? 
	

4+8 

(b) From the table given below find the inter 

quartile range. 

Average Monthly 

expenditure on food. 

Expenditure (in Rs.) No. of household 

260 - 280 1 

280 - 300 14 

300 - 320 16 

320 - 340 28 

340 - 360 21 

360 - 380 10 

380 - 400 7 

400 - 420 3 
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7. 	(a) Elucidate the factor - reversal test and the 6+6 

time reversal test for index numbers. 

(b) From the following data, find out fisher's 

ideal index. 

Item Price Quantity 

2001 (Po) 2011 (Pn) qo  qn  
1 6 10 50 56 
2 2 2 100 120 
3 4 6 60 60 
4 10 12 30 24 
5 8 12 40 36 

8. 	Fit a straight line trend from the following data 12 

using the method of least squares. Also estimate 

the production for 2012. 

Year 2005 2006 2007 2008 2009 2010 2011 
Production 81 92 100 105 112 120 126 

9. (a) Explain multiplication theorem of 12 

probability. 

(b) Briefly discuss conditional probability and 

state Bay's theorem. 

10. (a) Explain the concept of sampling distribution 6+6 

of sampling mean. 

(b) Distinguish between Type I and Type II 

errors. 
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SECTION - C 

11.  What is null hypothesis ? How do you accept or 

reject a null hypothesis ? 

3+3 

12.  Differentiate between Laspeyre's price index and 6 

Paasche's price index. 

13.  Write a short note on random sampling. 6 

14.  Briefly explain the concept of concentration ratio. 6 
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wIr-q I 	 10+5+5 
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